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1.

2.

Mark only one oval.

The majority of proposers and acceptors

The majority of proposers and leaners

The majority of acceptors and leaners

The majority of acceptors

None of the above

3.

Mark only one oval.

To provide availability of the service in case of failures

To distributed load for high-volume operations

To provide increased storage capacity

All of the above
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What's your name?

To achieve consensus, Paxos requires the functioning of

Chubby is typically deployed as a set of five servers
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